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. Which of the following can be significantly affected by an audit? (A)Information risk (B)Inherent risk (C)The risk-free interest rate

(D)Business risk

. The responsibility for adopting sound accounting policies and maintaining adequate internal control rests with the: (A)company’s

internal audit department. (B)company management. (C)external auditor. (D)board of directors.

. Authorizations can be either general or specific. Which of the following is not an example of a general authorization? (A)A sales price

list for merchandise. (B)A sales manager’s authorization for a sales return. (C)Credit limits for various classes of customers.
(D)Automatic reorder points for raw materials inventory. : '

. An advantage of using statistical sampling techniques is that such techniques: (A)define the values of precision and reliability required
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to provide audit satisfaction. (B)have been established in the courts to be superior to judgmental sampling. (C)eliminate the need for
judgmental decisions. (D)mathematically measure risk.

. Which of the following is an example of vouching? (A)Trace selected sales invoices to the sales journal. (B)Trace details of employee

paychecks to the payroll journal. (C)Trace inventory purchasés from the acquisitions journal to supporting invoices. (D)All of the
above are examples of vouching,.
Which of the following is not an example of a processing control? (A)check digits (B)control total (C)limitation check (D)logic check.

Auditors may identify conditions during fieldwork that change or support a judgment about the initial assessment of fraud risks. Which
of the following is not a condition which should alert an auditor that the initial assessment should be changed? (A)Missing or
conflicting evidence. (B)Discrepancies in the accounting records. (C)The auditor’s lack of independence. (D)Inappropriate
segregation of duties or independent checks on performance. v

Which of the following most accurately describes fraud? (A)Lack of slight care. (B)Absence of reasonable care. (C)Knowledge and
intent to deceive. (D)Extreme or unusual negligence without the intent to deceive. .

The introductory paragraph of the standard audit report states that the auditor is: (A)responsible for the financial statements.

(B)responsible for the opinion on the financial statements. (C)jointly responsible for the financial statements with management.
(D)responsible for the financial staternents and the opinion on them. ' '

Analytical procedures are substantive tests and, if the results of the analytical procedures are favorable, the auditor will: (A)reduce the
tests of transactions. (B)reduce the extent of tests of controls. (C)reduce the extent of tests of details of balances. (D)reduce all of the
other tests.

Most auditors assess inherent risk as high for related parties and related-party transactions because: (A)of the lack of independence
between the parties. (B)it is required by generally accepted accounting principles. (C)of the unique classification of related-party
transactions required on the balance sheet. (D)of the unique classification of related-party transactions required on the income

statement.

Cash is important to auditors primarily because of the potential for: (A)expenditures. (B)errors. (C)fraud. (D)liquidity. A A

Which of the following expenses is not typically evaluated as part of the audit of the acquisition and payment cycle? (A)Insurance
expense. (B)Bad debts expense. (C)Depreciation expense. (D)Prepaid expenses.

Which of the following is a substantive test of transactions? (A)Examine printouts of transactions rejected by the computer as having
invalid employee IDs. (B)Review personnel policies. (C)Reconcile the disbursements in the payroll journal with the disbursements on
the payroll bank statement. (D)Account for a sequence of payroll checks. _ ' :

Which of the following is not a primary consideration when assessing inherent risk? (A)Existence of related parties. (B)Nature of
client’s business. (C)Susceptibility to defalcation. (D)Frequency and intensity of management’s review of accounting transactions and
records. ‘

To prevent fraud, management should deny cash access to anyone responsible for:

Opening mail from customers Entering cash receipts transactions Entering sales transactions
{A) Yes Yes _ Yes
B) Yes Yes No
(9] No No Yes
D) No Yes Yes

Which of the following is not a key control in the acquisition and payment cycle? (A)Authorization of purchases. (B)Authorization of
payments. (C)Authorization of credit. (D)Timely recording and independent review of transactions.

The statement that “Nothing came to our attention which would indicate that these statements are not fairly presented” expresses which
of the following? (A)Shared opinion. (B)Negative assurance. (C)Negative confirmation. (D)Disclaimer of an opinion.
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